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A LEVEL MATHS

(60) Vectors (Position and A

Direction Vectors)
WORKING AT D/E

(TYPE)II‘I%A and B have coordint
(4 —8) respectively.
(a) \Vrlte down the position vectors OA and OB.
(b),Flnd the direction vector AB. 'i\ /
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7 (c) Hence, write down the vector B/Y
L (d) F,m@ the modulus of 4B in exa?.{ form 4

(eﬁ«F 1n§l the angle the vector 04 makes ‘Wwith the
posmve * a;xf;s e ® o
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(a) Given that |EZ| = 5+/2, find the coordinates of
the vector B.

(b) Explain why BA can be written as (41})
(c) Find |AB| =

(3) Given that OC = (‘84) and €D = (

find OD in the form (Z)
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WORKING AT B/C

. — A\
(1) Given that 0A = ( 8 )and AB = (_
(a) Find |OB| in the form \/p

(b) Find the angle OB makes with the vector -i .
(c) OBAC is a parallelogram. Find the coordinates of
C.

(2) OABC is a kite.

[04] = [0€] and [F| = |BC|
04 = -2i— 6j and AB = 2i — 4j
(a) Find OC

(b) Find the area of the kite OABC

007 - (2) 75 - ()

Given that DC = (_83), find |ﬁ)’|

WORKING AT A*/A

(1) A circle has equation x? + y2 = 25. The point P
lines on the circle and has position vector

- (3

possible coordinates of the point P.

) where m is a constant. Find the

(2) OA = -10i and OB = -6i — 10j

(a) Find |0A| and |5§|

(b) Prove that AOAB is not an isosceles triangle.
(¢) Find the areca of AOAB

3) 04 = 5i- 6j and AB is parallel to the vector j.
Given that OB = pi where p is a constant, find AB.
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